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(35 minutes)

Directions: There ure 4 passages in this unit. Each passage is followed by five questions
or unfinished statements. For each of them there are 4 choices marked A),
B),C)and D). You should decide on the best choice .

Passage One
Questions 1 to 5 are based on the following passage:
Fveryone has heard of the San Andreas fault (3% /& 87 £ ), which constantly

threatens Califomia and the West Coast with earthquakes. But how many people know

MWMMW&mm December of 1811
and Frbruary of 1812, three major earthquakes occurred, all centered around the town
of New Madnd, Missouri, on the Mississippt River. Property damage was severe . Build-
ings 1n the area were almost all destroyed. Whole forests Tell at once, and huge cragks
openc:l in the ground, allowing the odor( %%k ) of sulfur to filter upward.

}'ew people were killed in the New Madrid earthquakes, probably simply because

few prople lived in the area in 1811. But the sevenity of the earthquakes is shown by -

the fact that the shock waves rang bells in church towers in Charleston, South Carolina,

on the coast. Buildings shook in New York City, and clocks were stopped in Washing-
ton,D.C.

cientists now know that America’s two major faults are essensially different.The
San Andreas fault is a horizontal boundary between two major land masses that are sl-
owly nmwving in opposite directions. California earthquakes result when the movement of
these two masses suddenly lurches (FR# 47 ) forward. The New Madrid fault, on the
other }mndmm{, at some point, possibly hundreds of millions of years ago,

rock was pushed up toward the surface, probably by volcanoes under the surface. Sug-

denly, the volcances cooled and the rock collapsed, leaving huge cracks. Even now, the
rock continues to settle downwards, and sudden sinking motions start earthquakes in the
region . The fault itself, a large crack in this layer of rock, with dozens of other cracks
that split off from it, extends from northeast Arkansas throngh Missouri and into south-

ern [inois.

Scientists who have studied the New Madrid fault say there have been numerous
e —
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smaller quakes in the area since 1811. These smaller quakes indicate that larger ones
are probably coming,but the scientists say they have no of predicting when a
large earthquake will occur.

1.This passage is mainly about _ .
A)/the New Madrid fault in Missouri ‘ 4 .
B)theSanAndreasandtheNewMadndfmﬂts . /
C) the cause of faults :
D) current scientific knowledge aboutfauhs

2.The New Madrid faultis .
A) responsible for many deaths
B) a horizontal fault
C) a worse fault than the San Andreas fault
D) a vertical fault

3.We can conclude from the passage that
AlxnsprobablyasdmgesttohvelissmnasmCahfom
B) the New Madrid fault will eventually develop a mountain range in Missouri
C) in the future California will become an island
D) California will be broken into small pieces by an eventual earthquake

4.The passage suggests that .
A) volcanoes cause earthquakes in New Madrid
B) horizontal faults are more dangerous than vertical fauits
(.) vertical faults are more dangerous than horizontal faults
DJ faults are cracks in the earth’s surface

5.'As used in this passage (Line 1,Para.3) ,the word “essentially” means

A) basically C) silently
B) industriously D) astonishingly
Passage Two

Questions 6 to 10 are based on the following passage:

A question that has puzzled anthropologists (A% % %) for years whether the
uniquely human hgblt of bipedalism (walkx_qg_upnght on two o limbs) devel@ed sudden
in September 1988 . Anthropologist Williarm L. Jungers of State University of New York
xeported evidence that australopithecines, humanlike creatures who lived between 1
million and 4 million years ago, probably moved in a manner similar to both human be-
ings and apes(#) ,suggesting that bipedalism wgs a gradusl development in early hu-
man beings
\/Tl{n\)gexs compared the hip(’8-#F ) and leg joints of apes. He noted that in human
beings these joints are exceptionally large relative to body size. This is because they
bear all of the body’s weight when a person is standing. In apes, however, the leg and
hip joints are smaller because apes also use their forelimbs for support.

Jungers then examined the hip and leg joints of an australopithecine skeleton

.2.
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nicknamed \h/xc\!vand found that its joints display both humanlike and apelike charac-
teristics . Jungers concluded that Lucy’ s physical development—as well as that of other
australopithecines—falls somewhere between human beings and apes. While australo-
pithecines may Tlrlﬂgmwﬂ___ﬂmhmeir gait (¥ %) was probably Jar
different from the upright movement exhibited by modem human beings.
6. The goal of Jungers’ research is to
A) Alearn how bipedalism developed into human beings
B\ display both human-like and ape-like joints
C} make clear the different walking manner between early and modem human beings
D) show how an australopithecine study is done
7. Jungers’ findings showed that :
A) human beings walked upright later than australopithecines
B) bipedalism might have developed suddenly in early humans
() early humans might have learned to walk gradually
D) human beings evolved from australopithecines rather than from apes
8. Jungers’ report was based upon his comparison of
A) the body size of people, apes and australopithecines
3) the skeleton of people, apes and australopithecines
(. 'the hips and leg joints of people, apes and australopithecines
D} the size of hip and leg joints of modemn people and australopithecines
9/ Which of the following is TRUE about Ly according to Jungers?
A) Lucy walked more like apes than like human beings.
B) Lucy moved her steps in the same manner as people.
), Lucy might walk quite differently from modem man.
D) Lucy had hip and leg joints only like people’s.
10. Why is the size of the hip and leg joints important in establishing the human habit
of bipedalism?
A)Ahey support human body in an upright position.
B) They are the only observable evidence in australopithecines study.
C’ The evolution of the joints is the fastest in animals.
13} They mark the major difference between humans and human-like animals.

Passage Three
Questions 11 to 15 are based on the following passage:

The poverty line is the minimum income that people need for an_acceptable stan-
dard of living. People with incomes below the poverty line are considered poor. Econo-
mists study the causes of poverty in order to find solutions to the problem.

As the general standard of living in the country rises, the poverty line does, too.
Therefore even with today’ s relatively high standard of living, about 10 percent of the
people in the United States are below the poverty line. However, if these people had
stable jobs, they could have an acceptable standard of living. Economists suggest sever-
al reasons why poor peoply do not have jobs.

2R A — —




For one thing, more than half of the poor people in the United States are not qual-
ified to work. Over 40 percent of the poor people are children. By law, children less
than 15 years cannot work in many industries. A large number of poor people are old.
Many companies do not hire people over 65 years old, the normal retirement age.

Some poor adulis do not look for jobs for a variety of personal reasons: they are
sick , they do not have any motivation, they have family problems, or they do not believe
that they can find a job.

Other poor people look for a job but cannot find one. Many poor adults never went
to high school . Therefore, when they look for jobs, they have few skills that they can of-
fer.

. At the prese nttime the government thinks it can reduce poverty in the country in
the following ways.

@Llfﬂlenahonaleoonomygmws businesses and industries hire more workers.
Some of the poor who are qualified to look for jobs may find employment. Then they
will no longer be below the poverty line.

Second,, if society jgyests in the poor, the poor will become more productive. If the
government spends money on social programs, education, and training for poor people,
the poor will have skills to offer. Then it is more likely that they can find jobs. .

Finally, if the gove: stri society’ s income differently, it raises some
poor people above the poverty live. The government collects taxes from the nonpoor and
gives money to the poor. These payments to the ‘poor are called welfare. In 1975 over
18 million people in the United States received welfare.

" Some economists are looking for better solutions to thé poverty problem. However,
at the present time, manypeopledependonwelfareforannnnnaﬁywcepmblestmdmd
of living.
11.The author defines the poverty line .

A) from the economists’ view point
B-U“‘ view of the people’s need
C) according to his own understanding
D) according to the general opinions
12. Which of the following is NOT, true?
A) The poverty line rises when the general standard of living rises.
B) Poor people always live below the poverty line.
The poverty line has always been at the same level.
D) 10 percent of the American people live a poor life.
113 People could have an standard of livi
A) the life style doesn’t change
the poverty line doesn’t rise,

)/they have stahle jobs

D) their minimum income doesn’t change
14. Many poor people are not qualified for work

. 4 3
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A) they have either physical or family problems
P) they are short of self-confidence
(.) they do not have any motivation to work
D)/they are either too young or too old to work
15. According to the ecoromists the better solution to the poverty problem
A) is to provide more welfare ) is to hire more people

Bl to offer more jobs Q} is to be found

Passage Four
Questions 16 to 20 are based on the following passage:

Plastics are materials which are softened by heat and into lasting form when
shaped in a mold(#2£%) . Some are natural; some semi-synthetic, the result of chemical
action on a natural substance; some are synthetic, built up from the constituents(%4")
of il)or @al) @iDare based on the chemistry of carbon, with its capacity for forming
chains. The molecules that compose them ( monomers) link together in the setting or
curing process to form chains( polymers) , which give plastics their flexible strength.
Some: plastics retain their ability to be softened and reshaped; like wax, they are ther-
moplastic. Others set permanently in the shapes they are given by heat and pressure;
like eggs, they are thermosetting.

From industrial beginnings in the nineteenth century, plastics have struggled
through a hundred and twenty years of glory, failure, disrepute( 4 %  )and suspicion
on the slow road to public acceptance. Now, at last, one can positively say that plastics
are appreciated and enjoyed for what they are;that they make modem life richer, more
comfortable and convenient, and also more fun. Plastics are warm materials, sympathet-
ic to the human touch, and their transformation into things that come into contact with
human beings is entirely appropriate.

The fact that there are plastics antiques( % 4% ) comes as a shock to most people.
How can a material that seems so essentially twentieth-century, and one that is so much
associated with cheap, disposable products, have a history at all? It is a young technol-
ogy .and a great part of the fun of collecting plastics is that beautiful pieces of historical
interest can still be found very cheaply.

16. Which of the following is the best title for the passage?
A) The Importance of Plastics in the Nineteenth Century
B) Why People Are Suspicious of Plastics
€) dbe Development of Plastics as a Modern Material

N AR :

D) How Plastics Are Manufactured A &,/
17. Which of the following is necessary to create any type of plast{cs? ' X

4J Carbonydn ) 0Oil and coal.

B) Wax. D) Chains.
18 . Plastics that harden into penmanent shapes are referred o as

A) chained C) monomeric

B) thermoplastic \DJ) thermosetting

. 5 .




19. According to the author, for approximately how many years have plastics existed?
A) 100. B) 120. C) 190. D) 160.
20. What historical information does the second paragraph give about plastics?
A) They onginated primarily as road-sirfacing material.
B) They have come into general use very gradually .~/
C) Their popularity was at its peak at the time of the Industrial Revolution.
D) The earliest types were soft and did not last very long.
* . ¥ *
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